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1. AABC OWNDLZ T & T 5. 47 AF,FB,BD,DC,CE,EA DE X #XIcHE AL k.
(SH13508, A3 208, B#s5y, CH75)

(1) AF=5,BD=10, CE=7 (2) AB=15,DC=16, EA =9
A A
F E
E
F
I I
B D C B D C
(3) AB=7,BC=13, CA=16 (4 AB=19, AC=16,BD:DC—=4:3
A
A
E
¥ E
F
I I
B D C B D C

© B - Bz L -9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. AABC oD% 1 &T5%. §4 AF,FB,BD,DC,CE,EA DE I #XIcEE AL L.
(SH15740%, AR33 208, BRS5 Y, CHT5)

(1) " BF=10,CD=13, AE=6 (2) BC=21,EC=4, AF = 14
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(3) AB=25,BC=15, CA=24 (4 BC=28, AF:FB=2:3, AE:EC=1:2
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1. AABC OWNDLZ T & T 5. 47 AF,FB,BD,DC,CE,EA DE X #XIcHE AL k.
(SH13508, A3 208, B#s5y, CH75)

* Wb & E=AFOPIERORID.
KMo, FADH 2 15005 28 5[1) 5.
ZD2DERORE (521 mHhSERAETORE) IFELLW.

AE = AF
X o TEMBENEMDPRIO X I Ichii, { BF = BD Er 5.
CD =CE
DTDMBHT, a,b, clZZOXO@EN LT 3.
(1) AF=5,BD=10,CE=7 (2) AB=15,DC=16, EA=9

a=AE=AF =5 a=AE=AF =9
b=BF =BD = 10 b=BF=BD=15-9=6
c=CD=CE=7 ¢=CD=CE =16

(3 AB=7,BC=13, CA=16 (4 AB=19, AC=16, BD:DC=4:3

Yoz SRR fE - TE S Yoz R Mo TS
at+b="7 a+b=19 a+b=19
{b+c:13 = Ml 2a+2b+2c=36 {c—i—a:lG = {c+a:16
c+a=16 b:c=4:3 3b = 4c
= 3 3b =57
= a+b+c=18 ] a+ 304 3h — 57
NERPID 3 ODAZNFNEDEDNS, = dc+4a = 64
4a + 3b =64
a=35 3b—4c=0
b=2 a=7
c=11 S b=12
c=9
Yl

BD:DC=4:3%25 BD=4z, DC=3z £ EX.
AF=AE <& 19-4x=16—-3z < z=3
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2.

AABC ONL%Z 1 £$ 5. §47 AF,FB,BD,DC,CE,EA DE X #XIcEE AL L.
(S#145740%, A3 208, Bks55

(1) BF=10,CD=13, AE=6

a=AE=AF =6
b=BF =BD =10
c=CD=CE=13

(3 AB=25,BC=15, CA=24

Yol 37 SR 2 7 o TS

a+b=25
{b—|—c—15 = fl2a+2b+2c=64

c+a=24
= a+b+c=32

INERHD I ODRZNFNEDEDS,
a=17

b=28
c=7

(2)

BC=21,EC=4, AF =14

(4)

a=AE=AF =14
b=BF=BD=21-4=17
c=CD=CE=14

BC=28, AF:FB=2:3, AE:EC=1:2
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Yoz R R 1E > TE
b+c=28 b+c=28
{a:b—2:3 = {3a—2b

a:c=1:2

20 =c¢

b+c=28
= (b=3a = 3a+2a=28

c=2a
a=38
b=12
c=16

vl g

AF:FB=2:3, AE:EC=1:2»

HEIZ LD, a:b:c=2:3:4

5,

= a=2x,b=3x, c=4x L EX.

BC=28 & 3zx+42x=28 <«

r=4
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